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Paper : DSE-A-3 

|Philosophy of Language (Indian)| 
Full Marks : 65 
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.Choose the correct option (any ten): 

() primary signifying power 
(ii) Both 

ia) [akti of a word, according to the Ny�ya school is the 

() Naiy�yikas 
(i) C�rv�kas 

(i) Mim�ms� 

(i) C�v�ka 

(b) The word 'pot primarily denotes J�ti (universal)- Whose view is this? 

The figures in the margin indicate full marks. 

(d) The term Udvit' (plant) is a 

() Yoga-rkdha term 

(ii) Yougika term 

(e) Itar�nvite [aktih 

(1) Ny�ya 

(c) God's will is '[akti'- which school of philosophy holds this view? 

(15 ) 
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(ii) Pr�bh�kara M)m�msaka 

() Naiy�yika 
(iii) Mim�msaka 

(g) Lak_aF� is the 

() Figurative meaning of a word is admitted by 

(i) secondary signifying power 
(iv) None of these. 

(i) relation between word and its meaning 
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() Mim�msakas 

(iv) None of them. 

(i) anvita-avidh�nav�da 

(i) samsargamary�d�v�da 

(ii) Ny�ya 

which school of philosophy holds this view? 

(iv) S�rnkhya. 

(ü) Yougika-rkdha term 
(iv) rkdha term. 

(i) Bh��ta Mim�msaka 

(iv) None of these. 

(ii) absence of relation between word and its meaning 

(iüi) similarity between word and its meaning 

(ii) Grammarian 

(iv) None of them. 

(iv) absence of sinmilarity between word and its meaning. 

(h) Which theory is supported by the Pr�bh�kara Mim�msakas? 

(i) tatparyav�da 

(iv) abhihita-anvayav�da. 
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(i) Intention of the speaker is 

(i) �k�mk_� 

(üi) yogyat� 

(() An example of Jahat-ajahat lak_anã is 

(11) you art thou (tat tvam asi) 

() the platform is shouting (mañc�h kro[anti) 

(iv) None of these. 

(m) people with umbrella are moving (chatriFo gacchanti) 

() vibhaktyantan padam 
(k) The definition (lakyana) of a pada, according to Annambhatta is 

(üi) [aktam padam 
() The meaning of the word rkdhi is 

(16) 

(i) samud�ya [akti 

2. Answer in brief (any five) : 

(ii) avayava [akti and samud�ya [akti 

(d) 

(i) t�tparya 

(iv) None of these. 

(i) suptimantam padan 

(a) Discuss with examples Yougika-rüha and Yoga-rüdha' term. 

3. Answer any two questions : 

(iv) None of these. 

(b) Is GauFi a kind of lak_ana? Explain with an example. 

(1) avayava [akti 

(c) What is the main tenet of abhihit�nvavav�da? 

(iv) None of these. 

(d) Discuss whether t�tparya j'�na can be regarded as the cause of sabdabodha. 

(e) What is meant by the [akti of the term 'pot'? Discuss following Ny�ya view. 

(b) Explain anvit�bhidh�nv�da with example. 

() Explain the nature of [akti after Annambhatta. 

(g) Discuss, with examples, the difference between yougika and rkdha pada. 

(h) How many types of vyitti? By which vyiti the term 'Ganga' means bank of Ganga river? Explain. 

(a) Discuss the difference between j�ti[aktiv�da and akyti[aktivada. 

(0520+0521 +0522) 

(c) What does Annambha��a mean by +k�mk_�, yogyat� and sannidhi? Why are these regarded as 
causes of (verbal cognition) s�bdabodh? 

() Tatparya anupapatti lak_an�bijam'. Discuss. 
(i) Distinguish between jahat-lak_an� and ajahatlak_an�. 

5x5 

(i) Tat tvam asi'- example of which types of lak_ana? Explain. 
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